EARAZROREIERT — 2 N—XBISY —F 20185F10A8H (B) 4MA=AR3H

m"fﬁ%Zﬁ KR [38E] BES ‘ [Xiz] % ‘ [eErsm]  — | & (%) 1800M B
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S o2 | ERH 1:54.8 6-7-7-6 |38.3| 85.4 | 5 450 | EDEE (FR)
1 4 AT 7 55.0 (=) -2) (1115—&') J—ZELZX
RibhZotwr N B:7oRLIL/ =RV #Et /—Rex
— BRERK :55. -1-1- . . FER (EX)
o5l 7| 2=s=1% B 2 553_0 1(525)1 1-1-1-1 [39.5| 83.3 | 7 zlf; Bl
R:gr—3)7> B:FaLTF CiEL NS
sa .y N hHEZ : 04— EARB= (BR)
3l5|g| T NNFIYTF— R 6 A R e (ﬁ) Sone
L:bwH¥FITO-U— B:IITUAXTT HFAYREy K
< MAZE= : 50— e A (FEE)
alglia| PrEzI N R (15 IR Rl Bl B B
R:F4—TZAHA B:TUtwRHT 797577 — L
—: N .= E AT :55. —12-13- . . YREFER (BR)
s FrvverTa # 2 | EAEA RN A e e I I
R:vENTIF— BETE-INI—F HeE77—L
- N & E R :55. -11-11- . . SUAE (EX)
6 2 F—FA =LY 4 2 ?)55.0 1(35/54)7 11-11-11-8 | 38.8 | 77.9 10 4:2;1 T A
L:Zh—9 BT—F—-TzT7)— =e)
[N GispnpERud : -3-5- TEBX (EX)
7 6lELY XL o2 R 1(755t§s 4-3-5-5 |39.6| 77.4 | 12 <4+742) i#%u
L:xoinM0— BT« T7—XIN=7 ) MBS
- o J. ELTS : -14-13- ZHAME (EX)
gl1l1|7>F1 rr—n i 2 50 B 1'(518'5 14-14-13-13| 39.3 | 71.3 | 2 <4+526) s
R:d—IRK7Y2—)b B:a—>KU— HET7—L
LA T A #o2 | VX 1:56.6 8-9-10-11 [ 39.8| 70.8 | 8 468 | BR (E®)
9 f7|11| TNNT AP 55.0 (1/2) (-2) ) ILT KAT
L:7L>FFE2T71 BTLIUTZR lEE~se]
K s 4 2 | HILELF 1:56.6 3-3-2-2 |40.9| 71.8 | 3 478 | ATTIRH (RR)
1017112/ 7v LA X 55.0 (7€) © opdd 4
L:O—X¥x> 986 B:TAT7TAXT71— [y e]
) e 4 o2 | EEBZ 1:57.2 5-5-5-6 | 41.0| 67.2 | 13 | 486 |&iE (R®)
1813 71>7)> 55.0 (3 1/2) o | @ o1
R:T7RYA4Y<y 72 B:TUYTNLTF o KAt
o N & -12-12- LA (FEX)
I NESEN-E (8] o2 o 1.(558).0 12-12-12-14| 40.9 | 60.7 | 14 (4_5;4) Pl
R:Z2v—h77)3> B:VUkeEZ— e #E
> o2 | AEEN 1:58.4 10-9-9-8 [41.7| 58.8 | 9 466 |MTHE (ER)
130 10| # 1 EALA—% 5.0 (2 172) oy | ERE
o400 Bi¥xvrra4R N7 7 — L4
N o JI| B :59. —7-7- . . FEBE (EXR)
14 5 Ol — 4 2 A 1(55)8 8-7-7-8 | 43.3| 51.1 4 (5_062) e
LAY WY 4= BTLARTFIN— J—HrIr—L
@ 21 L
£y 51.9-39.2
NO>24 L | 12.4-11.7-13.1-13.0-12.7-12.7-12.7-13.1-13 .4
® I—F—@EBIERL
13=3r= (x7,8)12,6,13(4,14) (5,11)10,2(3,9) 1
23—+ — 7,8(6,12) (13,14) (4,5) (11,10)2-(3,9)1
== (x7,12,14)8(6,13) (4,5)10,11,2,9(3,1)
41—F— 7(12,14)8,6(4,13)-(2,5,10) (11,3)1,9
[ RN
B R 4 850 | | 71 K 4-7 2,660/ | | # = 3-5 5,550/ | | 3:E& 4-7-8 182,150
# B 4 330H 4-8 9,760/ B E 4-7 9,790M EE 4-7-8 885,550
7 770 7-8 13,320 B H 4-7 19,640
8 2,160

ABICOVWTRDTEEERROODE. TR LIV,




